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K= 2e| 3,011,290 5,264,045 N2,252,755
= 12,210
s 2,999,080
AXHzte| et 28,120 28,120 0
201 et 3| 14,680 14,680
01 At22t2l] 14,680 14,680
OXEgR 2ted HaARE 2 13,840
—22H ol&E 200,000 x4 S+6KM E 4,800
—=2ZH 2EX 25,0003 +802 2,000
—=2H 23 220,000 44 +BAIE 7,040
OO0t NEELUA2HN 2Rt S8
Cht ¢ 70,0002 & 18]+ 123] 840
202 04l 13,440 13,440
01 SLHoIH 13,440 13,440
OXlF2e| ge=8 Ol
160,000 x7&* 12 13,440
NE=E B A 69,483 59,583 9,900
201 er2 3| 69,483 59,583 9,900
01 AtR2t2|HI 69,483 59,583 9,900
OXAE=FZUE Hele 7Y
35,0002 *30 1,050
OXXH=2Z s EX-7
25,0002 +500H 1,250
OEXNOISZLMN HEX+8
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OEXOIS 22N MHH & EX7E 1,000
—MEX 20,0003 202} A 400
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g4 #¢ 200,000 x4 5+13] 800
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OXHMEAL 2 EX3
80,2403 x 18 »90! 7,222
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01 At22telt] 71,118 61,106 10,012
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70,0002 7 H*43] 1,960
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70,0002 x5 +33] 1,050
OFdyos HAME
45,0003 x10F+62] 2,700
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2,000,000 *14! 2,000
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= M 420,000 *14] 420
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2,680 *1,000& <22 5,360
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OHIEZ(NHTZA BHES S| ABE
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301 22N = 2,800,000 5,000,000 /2,200,000
14 J|EI2 43 2,800,000 5,000,000 22,200,000
OXEMEZAAE =83 s
2,800,000,000& *14] 2,800,000
CIXEXHREMNL (2 DEX) 10,210 55,959 N45,749
= 10,210
201 2= 486 2,664 A2,178
= 486
01 AF2-2t2ltl 486 2,664 A2,178
OXIHHZALZ S| 486,000 14 486
= 486
308 AHXIEMSOIH 9,724 53,29% A43,571
= 9,724
13 SI12S0He 4 A AS A 9,724 53,29% A43,571
OXETHEAIZSEH 9,724,000 14] 9,724
= 9,724
NEFHel o 2e(208xR) 2,000 0 2,000
= 2,000
101 @124H| 2,000 0 2,000
= 2,000
PEFEECEPS 2,000 0 2,000
OnxEe Y PxH
2,000,000 *14! 2,000
= 2,000
Aeld2zel 959,886 730,445 229,441
= 64,760
= 895,126
ANHBIEEP2EH 92,152 92,121 31
201 Ler23| 86,392 86,361 31
01 At2teltl 86,392 86,361 31
OXFeExelg 257 (EH & 5)
20,0003 *55* 108t A 1,000
Ot NHZEN SAIIEHY
10,000,000& * 14! 10,000
OdsXAE SEMA
10,000,000 * 14| 10,000
Os8HEE Ug & kaiskt= Ul =4
9,000 +3&+8x12& 2,592
ORSUEESRAAH(KBAS) RAE== X
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OXHZM2El SW |22
2,400,000 *14] 2,400
202 04dl 5,760 5,760
01 2L AL 5,760 5,760
OXlcld2 g€RF& 0y
160,000 x3& * 12 5,760
M==AALS 149,070 183,373 A34,303
201 2= 47,568 68,968 221,400
01 At22telt] 46,260 67,660 A21,400
O=4A8E E2E 04
5,000,000 14 5,000
OF23ERAe BH+E
70,0002 x0EH #2353 1,260
OUSHSE M=XA
20,000,000 * 14! 20,000
OdsHsE & & 4X 2,000
—uWFE ASHI U MH
8,0002 x250 7K 2,000
OL2HE, JZHa M= AL & FAI2
cl 18,000,000 * 14 18,000
2 S52g4l 1,308 1,308 0
OALIE 2FAFHBAIAE S| 2F
20,0002 *571* 1204 & 1,200
OkzdE=4 11 28 =4 282
9,000 x 12042 108
401 AlZHIZ SO 40,000 45,000 /5,000
01 A28l 40,000 45,000 25,000
OF=2FEAIE &2l & &4 40,000
—2HE E2FE 4X
200,000 *307H 6,000
—o= S22 WEX
200,000 *40H 8,000
- ASHSE DH(ESEIL)
10,0002 *1,6007H 16,000
FLH2ANE |A L 25
10,000,000 * 14 10,000
403 AXIEHMSAH=0ld 61,502 69,405 AT7,903
02 SISOt =2 A P E A I 61,502 69,405 AT7,903
OF2ZEAAH(KAIS) RAILH 7= 2 |A
2| 47,520,000 *14] 47,520
OgM=z=a = & FAFE)|2k 72
cl 13,982,000 * 14! 13,982
el EER=AY 23,304 44,751 N21,447
201 er23| 23,304 25,504 2,200
01 At2tltl 20,904 23,104 2,200
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
—Ug 22X 40,0003 *308 1,200
— S &4l |X2cl
2,000,000 * 14! 2,000
OIS 21 Faisgt
70,0002 +6& 43 1,680
OR0IEZI| 22F F(HE2l )
1,000,000 *2I4*2 M E 4,000
OEXSUHEESZANAE FNE+= X
= 6,012,000 *23| 12,024
2 SZ2H| 2,400 2,400 0
OR0&37| 2o
2,400,000 * 14! 2,400
CR2EMFLA (SHIEX) 15,000 16,000 1,000
= 3,000
= 12,000
401 Al HI L 2 OHYI 15,000 16,000 1,000
= 3,000
= 12,000
01 Al&H 15,000 16,000 A 1,000
O=zgE OR2E X £X
15,000,0002 % 14! 15,000
= 3,000
= 12,000
FAYE Y MES ZX(ZHIEX) 11,760 10,200 1,560
= 11,760
401 AIEHI L 2R 11,760 10,200 1,560
= 11,760
01 Al&H 11,760 10,200 1,560
O=JINEHS T 2C|AEH ZAAIS
11,760,000 x 14 11,760
== 11,760
CE2UXICIAIE ST ASIEAALY (ZHI B X) 668,600 234,000 434,600
= 50,000
= 618,600
401 AlEHIZL R OHYI 668,600 234,000 434,600
== 50,000
= 618,600
01 Al&H 668,600 234,000 434,600
OLZ & KGHAIEE HASIAIS
668,600,000% *14! 668,600
< 50,000
= 618,600
EX2e 256,776 256,002 774
= 36,000
= 220,776
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elr EX2el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
IHEZSAIXIOE &E 220,776 219,002 1,774
101 @124H| 21,184 20,825 359
M ORNZZE2NSE S 21,184 20,825 359
OMNESAIXIIL JIZM22 X AHS
80,2403 x4 »662! 21,184
201 ger=3| 189,912 188,497 1,415
01 AtR2te|H] 189,912 188,497 1,415
OBAIXIOE AL 2EAME HEEX
1,200,000& *14] 1,200
Osgll gx= 140,000 12042 1,680
O=8)| A2F(EH,S58) 7Y
700,0002 *1CH+*32] 2,100
O3JIEEI| Xz
40,0003 1202 480
OSAIXIL HEE JuES 728 4,700
—=22H 28X 20,0002 402 800
—=22H 23 ¥ JtEeIX
200,000 6 IH+=2M E 2,400
—=ZH 23 s=5dl=
200,000& *6IH* 1M E 1,200
—SAXDL HEE ZelE S
300,000& *1IH+1HIE 300
OMNESAIXNIL BEEH M=
10,0002 %1, 3000K 13,000
OHMESAIXIL &5 KNS 130,076
—1.1.01& &EIDL 282
45,8002 %130,0002 /(146,0002 /2,600 )
106,031
—7.101E &EI 282
45,800 *2, 5002 «0.5+0.3 17,175
—2ANE & 0[2A0FIt BEF+=E
45,8002 *300&2 0.5 6.870
ONLEZAIXIL 222 M=
70,0003 %23 *100H 2 1,400
OSSHIIABAIAAS 2B+
70,0002 102 *43] 2,800
@r=] 3,456
—KIJtEAN S2T S4|
9,0002 x4 +8ed~ 123 3,456
ONERES3 HLHISaE 89
2,000,000 %10 20,000
ONeRgs STANEIL &Y
6003 2002 8,720
ORS¢ e 2d S22 & =82
3 3,000& 1002 300
202 04l 7,680 7,680
01 2LHoIH 7,680 7,680
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chel: EXi2el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OEXlZel gR=80it|
160,000 x4 * 12 7,680
301 EtE2 NS 2,000 2,000
14 0Bt 2a=S 2,000 2,000
OFS&d sifldld 2a=s X2
500,000 ~4H 2,000
HEZAIRDE AHE (2 EX) 36,000 37,000 21,000
= 36,000
101 @1A4H| 11,555 11,280 275
= 11,555
M ORIMZZ2NSE S 11,555 11,280 275
OJ1Z2tMZ22 X+ el 24|
80,2403 x 144+ 1H 11,555
= 11,555
201 er23| 22,445 23,720 A1,275
= 22,445
01 AtR2t2|HI 22,445 23,720 1,275
OHESARI BE+=+2 K=
21,365,000 * 14! 21,365
= 21,365
ORXIItZA S20HAHI
9,000& x4 &30 1,080
= 1,080
202 04| 2,000 2,000 0
= 2,000
01 =LHA LI 2,000 2,000 0
OEXZclgd g2=80it|
2,000,000& %14 2,000
= 2,000
HH2LZH(SELUAX2IY) 227,892 223,884 4,008
olEIH(SEeEell) 193,242 188,79%6 4,446
g elAd| 193,242 188,79% 4,446
101 21AH| 193,242 188,79% 4,446
01 2= 115,596 12,779 2,817
Oz R=E 115,596
—gH= 12,8443 x25F10A1 2t 12 38,532
—Z= 12,8443 x25EH+20A| 2+ 123 77,064
03 BRA(RIH )22 U2+ 77,646 76,017 1,629
O322 IAHI(XI2IEE Z2XH) 40,390
—Jl 28 2,220,650« 18128 26,648
—&0=2 4,442
o= 2,220,650 x 1B «50%*42] 4,442
—&d2=4 2,220,650 x 1 +50%*22] 2,221
—=c|=4dl 4,345
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SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Sz Al 140,000& x1H x 122 1,680
HESIH|
2,220, 6502112 +60+23] 2,665
—Z2224Y 9| 812
EEEEEE
22,5303+ 1H*3A| 2123 812
&= 720
- BH SR 40,0002+ 1+ 122 480
XRHAHA 20,0003 x1F 123 240
— I 4] 120, 110&x1Ex 10 1,202
O=2F olAy|(aza? Nsgex) 37,256
=Jl23 2,051,0502 18+ 12& 24,613
—&03 6,155
= 2,051, 050& * 1% +x50%*43] 4,108
22 2,051, 050& * 1 +50%+23| 2,052
—=CIS M| 4,142
HMZAH| 140,000 x1H* 123 1,680
HEFIHI
2,051, 050& * 1% +x60%+23| 2,462
—Z2RY 2 752
CAIZERI2RE
20,8802 1Z*3AI2tx 123 752
—tEag 480
- BHS X 40,0002 1+ 128 480
— I 4| 11,3403+ 1Hx 10 1,114
Jl2Zul(SEa2 ) 34,650 35,088 A48
J|1E23&| 34,650 35,088 A48
201 L2 | 11,850 12,288 A438
01 Ar2eltl 11,850 12,288 AN438
O&MY =&H| 7,050,000 14 7,050
O&3NY ==t 4,800,000& * 14! 4,800
202 04d| 18,000 18,000
01 =UOdLI 18,000 18,000
OZNY Kbl 60,0003 *25F 123 18,000
203 PRF=&H| 4,800 4,800
M EA2IHRFALI 4,800 4,800
ORN2IYRFLI
400,000 x 12 4,800
HRES(SE2U2H|) 900 600 300
PSDNES 900 600 300
MO EXS BtEt 900 600 300
802 Btz J|EL 900 600 300
01 =2NEXxZLHEZ2 900 600 300
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